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Pre-Cale
4.1-4.4 Test Review
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For each problem, answer the following:

a.) Draw the angle.

b.) Identify the quadrant.

c.) Identify the reference angle.

d.) Identify the coordinate point on
¢.) Evaluate the six trigonometric functions of the given value.
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For each problem, answer thflb;rin. e
a.) Draw the angle. <
b.) Identify the quadran. ‘

c.) Identify the referen

. ce angle‘ . ‘
&) ldentify the coordinate point on the unit circle that corresponds with the given value.
e.) Evaluate the six trigonometric functions of the given value.
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formulas for linear and angular speeds to answer the following questions.

P¢ 5.) Find the distance between Dallas, Texas (latitude: 32° 47' 39" N ) and Omaha, Nebraska (latitude:

41 15 50" N'). Assume that Earth is a sphere of radius 4000 miles and that the citics are the same longitude
(one city is due north of the other). Tollet AWl v
32.79° gy, 2t AT | o] = 8
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6.) Whul' i1s the difference in latitudes assuming the radius of Earth is 4000 miles and Seattle, Washington 1§
080.2 miles due north of San Francisco, California? _ - &
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£ 7 A truck is moving at a rate of 90 kilometers per hour, and the diameter of its wheels is 1 meter. Find the
angular speed of the wheels in radians per minute.
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Use a calculator to evaluate the trigonometric functions. Round your answers to four decimal places.
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8.) tan 33 9.)cscll 10.) secTﬂ 11.) sm—£
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The point is on the terminal side of an angle 0 in standard position. the exact values of the six
trigonometric functions of the angle 0 .
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14.) csc@ >0 and tan <0

R

i the quadrant in which 0 lies.

13.) tan® > 0 and cos <0 71}
16.) sec@ <0 and tan >0 :LL/L

,-l"‘

15.) sec & >0 and tan >0 -

Evaluate the trigonometric function of the quadrant angle.
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Find the values of the six trigonometric functions of @ satisfying the given conditions.
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ver the following,

23.) A train travels 3.5 kilom

an
_ cters on g St
in that distance?

; ; ical rise of the tr
raight track with a grade of 1 10'. What is the vertical 1

po
fs T & =
] S 3.9
< vf':
2 J g I
| A (y = ,07] KEm

—

{xit 7] mek.s |
24.) A guy wire runs from tl

ire he
1€ ground to the top of a 25-foot pole. The angle formed between the wire and t
ground is 52 degrees. How far from the base of the pole is the wire attached to the ground?
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@ 25.) From a point 100 feet in front of the public library,
There is a flagpole mounted on the front of the library’s
39 45'. What is the height of the flagpole?

the angle of elevation to the roof of the library is 28" .
roof. The angle of elevation to the top of the flagpole
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